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400,000& = 1CH 400
OJlds NEzxed =z dlo 2L
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OJds HEeE2E ooz RLXH
2,000,000& * 1K 2,000
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OJFE CUWTLNOZREL YHD 2K
=) 1,450,000& = 1CH 1,450
OJlds F2XNWIE2Y TV 7L
1,200,000& = 1CH 1,200
OltZs HEALeZ2Y F=I 2LXA
600,000& « 1CH 600
OJtZs &4ELeZ2Y 2XNLEEFD 2
# 1,000,000& = 1CH 1,000
OJZE S2eF2Y ALY AN
1,300,000& = 1CH 1,300
OJl3S eHEMAMIZY eligt=I 7
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OLMIES =2Z2Y oz LA
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600,008 = 174 600
OSHASE HYEBRY HIG TYTL

400,0008 + 174 400
OSHAZSS RSULREIZY HIH PYX
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O22S F21LNAEY Hio 7YX

400,0008 * 174 400
O2YE FI2HNY2Y HIH FYXE

400,0008 * 174 400
OSYE ZHEI2Z G FLX

400,0008 + 174 400
OSHE MREI2Z HiG FLX

400,0008 * 174 400
O2YS 4YUXEIEY HI0 7YX

400,0008 + 174 400
OSYE ¥2EI2Y Hig FLX

400,0008 * 174 400
OSYE W=2EF2Y vig PN

400,0008 * 174 400
OSYS FUHALOZ2L HiH YK

400,0008 * 174 400
OSHE SHOOILR0Z2L HIG 2LX

400,008 = 174 400
OLM2s MHITZZL HIO PN

400,008 * 174 400
OLM2s MU2TZZY HIO PN

400,0008 + 174 400
OYM2E BEZ2Y Hig FLX

400,0008 + 174 400
OLM2E UZZ2Z g 7LX

400,0008 * 174 400
OYM2E MMF2Y HIH FLXH

400,008 = 174 400
OLM2E ABA2Z G FLX

400,008 = 174 400
OYAM2E 8HB22 Uiy PLN

400,008 = 174 400
OYAM2E 29322 HiY FLXL

400,008 * 174 400
OYM2E $E1TZ2Z Hlol 2N

400,008 = 174 400
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300,000& * 1M

OB ZELXEZEY HHAX PN
300,000 * 1}

O2% 2902 HIlgags AN

00,000& = 1K

OZs=32XeZE2E 2Xddn 7N
1

,200,000& = 1K

OR2=ssS 5032 A0t X
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£B2S MLYFBANESZY 20T PY
! ,700,0002 * 17
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O=2Us sUizred =2 ol 2R
2,000,000& = 14 2,000
Oslis gxixedzg v 2 XA
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OU=RE 3842 52 IAMR2I| B AH(L=150m,B=3
m) 7,200,000 7,200
OS&E27 129H X Xotx= Hi+=2 &XI(L=50m
,8=0.3m) 12,500,000& 12,500
oYM S HAHEH(2F S 1706-1)
4,500,000& 4,500
O=s%is MZUISR(1030HX)xUH3 =4
15,000, 000& 15,000
OdA& =S 131-6 0t FH|(L=40m,B=4m)
2,600,000& 2,600
O & Al & AHlHI 20,000,000& 20,000
OXNSS(158) =2 Z FALS (L=125m, B=3m)
22,000,000 * 14 22,000
03 AIE 2 THHI 1,007 1,757 AT50
OL7SL XNIINRIIAMG ALY
139,800,000& * 0.72% 1,007
AgFED WIOHESAHZM1ES DEEYl) 503,600 0 503,600
401 AIEHIZL 20 503,600 0 503,600
01 A& Hl 500,000 0 500,000
OwE & 500,000
OAZ&E I MItA S AH(L=70m, B=8.0m)
500,000, 000& 500,000
03 AIE S THHI 3,600 0 3,600
Odddn MIESA AIE=20UH|
500,000,000& = 0.72% 3,600
23U L SAUES(AM) 937,036 0 937,036
2 et A | 20,260 0 20,260
01 At 22l 10,542 0 10,542
OLZ2FH 2HE A3 3,227
OE=ZHEXI (A1) 28,000& * 12 * 63 168
OE=ZH&XI(A0) 66,000& * 15 ~ 6& 396
OE2H dlE 48,400& * 204 * 62 581
OZ=2H 23 51,000& = 401 » 63 1,224
OxZely &4 90,000& = 101 » 63 540
O=Zgg 23 53,000& = 101 » 63 318
OZHl iz 7,315




e EEE SN EYTE AL
M NADHLHAE TAIIBE
ool cRee EERED
SN BAGIA) - HRAY - BES il HImEET
O= 47| 550,000 = 1CH = 7¢ 3,850
og=xt 495,000 = 104 » 7 3,465
02 =224l 9,718 9,718
OZ=2E+FH RRU(BHEL 4F)
1,969& » 1004 197
OZ2IIsE AMRA U SIH(AUSR)
3683 * 150 = 40 821
osHe=s 7,200
O&z&el CTvald Mgz (Z&E 6CTV)
1,200,000 * 6 7,200
O ZEHI &bl ==cltl 250,000& = 63 1,500
206 M= Hl 53,713 53,713
01 =8l 53,713 53,713
OXNIET=ZzESE UM 52,888
OABIE 5,000& » 2501 1,250
OZotAa= 14,000& = 2,500% 35,000
OS2 (&) 16,000& » 250m 4,000
OZcH 21,000& = 250m’ 5,250
O=3o| 18,000& * 3H 54
oY 9,000& = 3 » 28 54
Oxgdd3IX= 231,000& * 307H 6,930
O&EEI & 350,000& = 1H 350
OLZ2E =AY et E XM 825
OS At HE X & 60,000& * 14 60
OSME8 HA 25,000& = 104 250
O3 AME ctHtE 13,2003 2004 264
OFSPAFIE=3= 15,0002 * 54 75
ofIgd s 17,600& = 1004 176
305 a2 S 5,000 5,000
01 tHaf=8 5,000 5,000
OEZAIE ML Hiag  500,0008 = 108 5,000
401 Al HI K 201 I 858,063 858,063
01 A& HI 852,960 852,960
OE2RAE = 845,000
OOAZE AME S 140,000, 000 140,000
OB ZAHAA B+ 45,000,000 45,000
OXed =M 20,000, 000& 20,000
OFIF=E NI 25,000,000& * 8A 200,000
OAMULER =2 & 25,000,000& = 14A 350,000
FREZH ) 30,000,000& * 33l 90,000
OZHEH S 398,000& = 20E X 7,960
03 Al S THHI 5,103 5,103




AENE EEE SN EHTE ALD
M NARFLMIB TAIIBEY
ool C 2R (St &)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
OS2 FHIAIS = S0
810,000,000& = 0.63% 5,103
NBANEE & 52 RAES(AM) 253,268 0 253,268
201 £B-2dH| 6,720 0 6,720
02 =224l 6,720 0 6,720
OCCTVald L Salald AI8Z 2,400
Odst2Xl+ W  200,000& = 128 ~ 104 2,400
OLBtES AIEZ 720
O&3t2X+ |1 60,0008 * 128 * 1A 720
odII3 3,600
O8%eX+ g1
300,000& * 120H& * 10 3,600
401 Al HI & 28I 246,548 0 246,548
01 A& Bl 245,000 0 245,000
OwEEH 130,000
OJItEWe 1A FUYEHUEA(II0IE W,
WA DI E) 50,000,000 50,000
ORZ 2 JEEE RNES
80,000,000 80,000
O=Z &l 115,000
O==2 % 0tset2 RS =4l
90,000, 000& 90,000
ODZEs XS MHHHX & S2HML
Jl S At 25,000,000& 25,000
03 AIE 2 THHI 1,548 0 1,548
OLEFHAME =& 80,000,000& * 0.9% 720
O=ZZHIAMY =& 115,000,000& * 0.72% 828
272 NG bR AMS (M) 255,290 0 255,290
401 AIEBIZ 28I 255,290 0 255,290
01 A& tl 253,700 0 253,700
OAMZE1S 244-31 T2 FHl 2A 10,000,000 10,000
OAZ2E =2 EX FHHl 3 AH(L=350m)
60,000, 000& 60,000
ORES 278 467-7 ot==2 FHISAH(L=30m)
10,000,000& 10,000
ORES 275 467-7 B F U B AH(L=120m, B=4
m) 10,000,000& 10,000
OSYFI2 Z2O20ITY SHE FHIJA
6,700,000& 6,700
oOFZEs ¢¥ o ¥ YIS EHS
At 10,000, 000& 10,000
OREs J0RANE L& NE=X U SA
10,000, 000& 10,000




AENE EEE SN EHTE ALD
M NARFLMIB TAIIBEY
el Ezzel (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
OMES E=0E 0SS (AES4758Xl) bl
A 14,000,000& 14,000
O2HS 564 =2 &Yl (L=40m, B=4m)
8,000,000 8,000
OMES 1&=8= 112~117, 661~665-1EE =
W (L=160m, B=4.5m) 52,000,000 52,000
O=+==318 52-2 L& M2 30,000, 000& 30,000
O & Al & AHHI 20,000, 000& 20,000
OREsE EEZ =2 NHWHAL 4X
13,000,000& * 14 13,000
03 Al 2 0HHI 1,590 1,590
OL7SL XNIINRIIAMG ALY
1,590, 000& 1,590
KL A (M) 337,646 337,646
< 302,500
Al 35,146
401 AIEHI L 20HEI 337,646 337,646
< 302,500
Al 35,146
01 A& Hl 335,000 335,000
OLTHEAE XNGMHL A 65,000
O=gs =22 F 4l At (L=200m)
20,000, 000& 20,000
< 10,000
Al 10,000
Odsts 7 MZE1DZ ZJHIAY
45,000,000& = 14! 45,000
< 22,500
Al 22,500
OALA2 SSAE HEAS 270,000
Ottgs XeleHel 288 L LepExF2 Y
& Xl (L=150m) 100,000,000 100,000
< 100,000
OZ¥s HElol3¥ FUISA
50,000,000 * 14 50,000
< 50,000
OMdls 422 192812 =2 % OtSer
& HI(L=223m, B=3.3m) 50,000,000 50,000
< 50,000
OMAS 422 EXI2SHX(28M4)
30,000,000& 30,000
< 30,000
OMEES &X=Z 3582 T2 X (L=80m, B=5
.0m) 30,000,000 30,000
< 30,000
O2&s =82 (L=50m, B=5.0m)
10,000, 000& 10,000
< 10,000




e EEE SN EYTE AL
Hu: ARELHSE CAIIBEY
ool cRee EERED
CEA .S (3H) - NEAY - BYS O Ak o8 ﬁlf& HD=2
03 A& 2 0HbI 2,646 0 2,646
OAHIZAIE XNEMLAIE AL L20HHI
65,000,000& = 1.08% 702
OAAR ZZZAIAE & AFY A& 20HY|
270,000,000& * 0.72% 1,944
B OIREE ¥ SN 25 3,442,663 3,528,411 185,748
= 57,000
Al 3,385,663
2 Bots A2l 2,117,074 1,975,135 141,939
= 57,000
II2EOE 22 (E) 1,086,650 1,923,839 A 837,189
201 Bt A H| 891,890 1,544,920 A 653,030
01 AtR 22l b 29,810 31,360 A 1,550
OJt2s dMI|I&EH d3x=x2 21,650
O2ds 44 200 * 17000 A 7,514
ozs 7,440& * 1,900 = 14,136
OHdI|ItM 22 HE =42 8,160
OHDIE A2l XISHRFE  520,000&  12& 6,240
O7EHYE 160,000 = 12& 1,920
02 33294l 862,080 1,513,560 A 651,480
OJg2os dMIIe= 852,000
olzs 7,800& * 5,000 * 12& 468,000
O=eots 6,500& * 4,000 * 12& 312,000
OHDOIE A A X6t
6,000,000& = 12& 72,000
OJ2S YYst @H)| SMR2
4,000& * 210004 = 12& 10,080
206 M = Hl 18,500 26,399 A7,899
01 T2l 18,500 26,399 7,899
oJlz:ees B8 UM 18,500
ongAMerel sz 33,400& * 30H 1,002
Ol E A ectel ot A | 46,2003 = 304 1,386
OBotsSEE )| 72,700 * 304 2,181
OJtzssdsrEE | 1,828,000& * 24 3,656
O UHEEHD 20,000 = 15004 3,000
ODNAUHEECHE D] 48,500& = 15004 7,275
401 A& H L 20 bl 176,260 352,520 A 176,260
01 Al& H| 175,000 350,000 A 175,000
OJIz2E0ts B4 500,000& * 35004 &~ 175,000
03 A& 2 0HH| 1,260 2,520 N 1,260
OIS B =X AIE20UHY|
175,000,000 * 0.72% 1,260




SEN Y SN EEPE AL
B HNE Jl28Y ¥ SN2 HE
e JI2 . BotE X2 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
2SS A& L NH(E) 34,368 51,296 N 16,928
401 Al HI L 20 HI 34,368 51,296 N 16,928
01 A& HI 34,000 50,000 A 16,000
O2Eos d& L i
1,000,000& * 2004 A 20,000
o= Jtgs #FZJg uAl
7,000,000& * 244 14,000
03 A& 20HH] 368 1,296 N 928
OJ2EoS A4 L WX AME2UbI
34,000,000& * 1.08% 368
ID2EE 22l (M) 846,990 0 846,990
201 LEt2 Y| 652,230 0 652,230
01 At 22l Yl 750 0 750
OJtgEos B MG IS 750
o&gs=s 90,000& * 3Y 270
odsts 100,000& * 3Y 300
Oot& 3t 60,0008 * 3Y 180
02 33249l 651,480 0 651,480
OJgeEos dMIIe= 641,400
Oltes 7,800& * 4,000 * 128 374,400
[@)=Reiz= 6,500& * 2,500 * 12& 195,000
OFEHYE 4,000,000& * 128 48,000
OMEHYE 2,000,000& = 12& 24,000
OJt2sS YYst 3H)| s8M2
4,000& * 210004 = 12& 10,080
206 T 2l 18,500 0 18,500
01 X2 bl 18,500 0 18,500
oJz=eos B8 UM 18,500
olgAMetel sz 33,400 = 30H 1,002
Ol E A ectel ot A | 46,2003 = 304 1,386
OESEHIED| 72,700 * 304 2,181
Odftzsddasrda ) 1,828,000& * 24 3,656
OlNYUHESHIZ 20,000& * 1504 3,000
ODNAUHEECHE D] 48,5003 * 1504 7,275
401 Al HI YL =2 Tl 176,260 0 176,260
01 A& HI 175,000 0 175,000
oJtzeEos B 500,000 * 3500 A 175,000
03 AlE 201l 1,260 0 1,260
QONZEUHS B F& AE2UYI
175,000,000 * 0.72% 1,260
RS ME Y DA (M) 34,245 0 34,245




AETE EEY SN EHTH ALD
HE: WNE NRHY U SNDA HE
2 JIZ2 . BotsE S22 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
401 AlEHIZL 2 0HY| 34,245 0 34,245
01 Al&H| 34,000 0 34,000
oJtzeos A& L nH
1,000,000& * 2000 &~ 20,000
O J2S Y DA
7,000,000& * 24 14,000
03 Al&E 201 Y| 245 0 245
OJlzeos A& L DM AIE=20Y]
34,000,000& = 0.72% 245
2EHE 2 HOEAMHE HES OH 114,821 0 114,821
= 57,000
Al 57,821
401 A& HI L 204 HI 114,821 0 114,821
= 57,000
Al 57,821
01 Al&H| 114,000 0 114,000
OFEHE ¥ HIOCAMHZ BHES LA
114,000,000& = 14! 114,000
= 57,000
Al 57,000
03 Al&E 201 Y| 821 0 821
OJz8os A& L DM AIE=20Y]
114,000,000& = 0.72% 821
23 SHMNA A Y 949,272 1,123,148 N 173,876
oHelolZ2e SX22(E) 614,558 1,123,148 A 508,590
201 et 9| 5,876 11,620 N5, 744
01 AR 2t2l ] 5,816 11,500 N5,684
OB SXNBS B2 M
12,0002 = 5944 * 20K 1,416
OO0Z0IZY BHUS AFAMN 222
2,000,000 = 14! 2,000
O0ZI0IZY HIGHMAAN £48
300,000& = 8IH A 2,400
02 222%4| 60 120 A 60
028 & -5tk 22
1,000 = 504 + 12€ 60
305 HHAZ2E 1,500 3,000 A 1,500
01 HIASS 1,500 3,000 A 1,500
O 0l =] W AMoHIlcH a2
500,000&¢ = 33| 1,500
307 QI2t0| & 18,000 36,000 A 18,000
05 QIZtREZ 18,000 36,000 A 18,000
OFFZ2A &2 300,000& = 5004 = 12&€ 18,000




M ox
40 5 4

(R ]
[0 g 1@
o

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
401 Al HIZ 201 Y| 589,182 1,072,528 A 483,346
01 A& HI 586,900 1,068,550 A 481,650
ONE 03 2clA (2HAH)
3,000,000& * 597K A& 177,000
ONE0IZ& NEZS "2l
2,000,000& * 300H A& 60,000
O0eEoI2d 2e3eld 9,000& = 3,600m 32,400
ONE 0B =0lAld ZHISAM
20,000,000& = 1500 & 300,000
ONE0IZd =& FHIZA
3,500,000& = 5JH A 17,500
03 A& =2 I 2,282 3,978 A 1,696
O0eolsd 2el & HUAY =d
316,900,000& * 0.72% 2,282
Helolsd X2l (M) 334,714 0 334,714
201 Let24E] 5,684 0 5,684
01 At 22l 5,624 0 5,624
OTHL ST &40 M=
12,000& = 510HA = 20K 1,224
OOROIBY BAS AFAA 228
2,000,000 * 14 2,000
OORIOIZE HIIGHHAA 42
300,000& * 8JH A 2,400
02 22224l 60 0 60
OZ& & -ot=& 23
1,000& = 504 * 128 60
305 a2 s 1,500 0 1,500
01 Hi&a=SE 1,500 0 1,500
OO0l Z3UL Aol Bia=
500,000& = 33l 1,500
307 glz2tol & 18,000 0 18,000
05 B2t E = 18,000 0 18,000
OBEFZE 22 300,000& = 5044 « 12E 18,000
401 AIEHI L 20 309,530 0 309,530
01 A& HI 307,603 0 307,603
O0eol=s& 2elAtd  3,000,000& * 51084 153,000
ONe o3& ANEE2 sAZel
2,000,000& * 237 A& 46,000
O0eolsd 2e3eld 9,000& = 3,067 m 27,603
O(S&)orm HE 100,000& = 11000 & 11,000
O=&Es el o3& FHIAY 70,000,000 70,000
03 A& S THHI 1,927 0 1,927




e EEE SN EYTE
B HNE Jl28Y ¥ SN2 HE
Sel: B BINL AL CER-ED
A SA - SAEA) - MRAY - BES il HImEET
ONeolZd 2l & FHAY F&
267,603,000& = 0.72% 1,927
2 2 SXAIE 22 376,317 430,128 A 53,811
za 2el(8) 61,432 128,408 A 66,976
201 Let24d] 1,000 ,500 A 500
01 At 22l 1,000 ,500 A 500
OJt2=, Z&2 0AFHI(24)] S) U=
500,000& = 104 = 23l 1,000
401 AIEHI L 2CHYI 60,432 ,908 A 66,476
01 A& HI 60,000 ,000 A 66,000
OZZ2H 2= SXMA(MEZQ BHeH)
10,000& * 6,0002 60,000
03 Al 204 432 908 A476
OXZ2+ SXHMAAY =&
60,000,000& = 0.72% 432
=XAlE 22l (g) 183,365 , 720 A 118,355
101 @124l 29,215 ,985 A22,770
04 JI2ZtHZ22HEE = 29,215 ,985 A22,770
OJ)=Zste 2, 32 22 U2 29,215
OZI AN 50,000& = 4 = 80 16,000
OAM=2te 50,000& = 2% = 100 10,000
OMalBE = 2,715
-—=lH=RE= 26,000,000& * 4.5% 1,170
—RoAYRERYS
26,000,000& = 2.945% 766
I RYBERES 766,000& * 6.55% 51
-IESEERES 26,000,000& * 1.5% 390
-ME M2 EREZE 26,000,000& * 1.3% 338
Of4x =l 500,000& * 14l 500
201 Let2dE] 1,591 ,379 A 1,788
02 2324l 1,591 ,379 21,788
OZ3=sXAE el &l 1,591
@F:E=1.] 1,969 = 44 = 504 » 15 591
OZE=XNAE 2el&Edl =4l
200,000& * 5CH 1,000
206 M= Hl 6,515 ,030 A 13,515
01 MHZ 4l 6,515 ,030 A 13,515
OZ3=K 2eE3 1,000
O&2 158 100,000& * 103l 1,000
OJtzstet & Heolsd el 1,015
Otlz 7,000& » 251 175




SEN Y SN EHTE ALD
B HNE Jl28Y ¥ SN2 HE
S iz Y sIIAIE 22 (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
Og2H 8,400& * 509 * 23 840
Oel0lsd S OFME 2 A XA+ 4,500
OH=EE 2 28 1,500& = 3,000 4,500
401 Al HI L £ 0HHI 146,044 226,326 A 80,282
01 A& HI 145,000 224,708 ANT9,708
OZAAMH|(MAT 2 S 100 A)
1,000& = 70,000m 70,000
OsZ22(HE2Z S 100HA)
1,000& = 5,000 5,000
OFSY=22IWHH(II222S 1002)
1,000& = 70,000m" 70,000
03 Al& 201l 1,044 1,618 N574
O=X&2AY =& 145,000,000& * 0.72% 1,044
24 22l (M) 61,432 0 61,432
201 LEt2 Y| 1,000 0 1,000
01 AR 22| bl 1,000 0 1,000
OJ24,ZF4 OAFEU(24D] S) 2z
500,000& * 1CH = 23] 1,000
401 AIEHIL 20| 60,432 0 60,432
01 A& bl 60,000 0 60,000
O=2H JI24 SXNMHMEZ22 93 =A)
10,000& = 6,000 60,000
03 Al& 201 1I 432 0 432
Oz SXHAMY =&
60,000,000& * 0.72% 432
=SXAE22I(AH) 70,088 0 70,088
101 2124 d| 29,125 0 29,125
04 JI2ZtH22XNEE 29,125 0 29,125
OJt23s 2, g2 22 2AFY 29,125
OZIATH 50,000 * 4Y x 80 16,000
OAMZz 22| 50,000& » 2% = 100 10,000
OAsIEEZ 2,625
-2 Y= 26,000,000 * 4.5% 1,170
—R0AYBERYS
26,000,000 * 2.945% 766
- QALBEHEEZ 766,000& * 6.55% 51
-NEEEssRY=2 20,000,000& = 1.5% 300
“MATHHEE &S 26,000,000& * 1.3% 338
O84AXz| 500,000& * 14! 500
201 LEt29Y| 1,091 0 1,091
02 533294l 1,091 0 1,091
OSd=sAAE 22 &l 1,091




e SN BEPH ALD
O HHE JREE Y SN2 S
QRS Y SUAL 22 (9 &)
MR .2A B O(BA) - MRAMY - BHES O & o8 il H D=2
PEEL] 1,9699 * 40 » 504 » 15 591
OZYSXAIE 22/FHl &t
100,0008 * 5CH 500
206 M 24l 6,515 0 6,515
01 M2l 6,515 0 6,515
O3S BRUBE 1,000
O 158 100,0002 * 103l 1,000
OJI23E Y OfRI0IBSH 22 1,015
odla 7,0008 * 25 175
Og X 8,400 * 508 * 2% 840
O0RI0IZY S OFMBIEA 7L 4,500
oues 9 25 1,500€0 = 3,000= 4,500
401 AIZHIZ 2T HI 33,357 0 33,357
01 A&l 33,000 0 33,000
OZAFH (SHAMHE 2 S 100H2)
1,000& * 15,000 15,000
O (HL2 S 100H4)
1,000& * 10,000 10,000
OSL=22UHEY (NH2L2LS 100A)
1,0008 * 8,000 8,000
03 Al 2 CHHI 357 0 357
O=XzelAg =& 33,000,000 * 1.08% 357
SAMCAS B ARIXIR 31,799 37,561 N5,762
MR 4 L BE5 31,799 37,561 N5,762
S0 (E) 9,471 19,371 A9,900
201 Lt 8,041 16,821 A8,780
01 At 22l 3,810 9,480 A5,670
OKENY EE2 M 1,500
OatZ2xE A2l 2 5F 10,0009 * 15074 1,500
OAZ X5t Il =Y 1,500
Ogtst= 90,0009 * 10% 900
OotH &t 60,0008 * 105 600
OKMEHXUHHER 2 S Y
6,0008 * 1 = 1502 * 90% 810
02 Z229l 4,231 7,341 A3,110
OAZ XS HE | 2,281
O & SAFH 450,0002 = 35CH * 4/100 630
OME2EF R 1,000,0009 = 1CH 1,000
@R k-10] 651
-S 5 1,992 » 50 * 204 * 30 591
-2y 5,0002 = 0.2¢ = 20§ * 30 60




AETE EEY SN EETE ALY
HE: =MTAE 98 M4PXRE
Sl NANE sS4 U 25 CERED
SA-EY B () NEAY - BYS O Ak o8 ﬁlf& HD=2
ONENSZANUS nal
5,000& = 3¥ * 130¢ 1,950
206 M = Hl 1,430 2,550 A 1,120
01 & bl 1,430 2,550 A 1,120
sSUE 2&I] Hig 2l 80,000 * 14CH 1,120
O 4&tE &l 5 &HH| 310
OZ3 7,000& * 3004 210
(@F =y==1 5,000& = 2004 100
A XM Y BSAMYE(E) 7,773 18, 190 N10,417
201 Bt A H| 1,573 3,190 N 1,617
02 332494l 1,573 3,190 N1,617
OS2 MI SAbI 1,573
Owrst 1,763 * 250 * 30 1,323
OSs Xl 250,000& = 1CH 250
206 M = Hl 6,200 14,600 A 8,400
01 X2 bl 6,200 14,600 A 8,400
osgNMs «AH 6,200
OF2tFAS 4,200& = 1,000" 4,200
Ot == 10,000& * 200 2,000
AE0E(A) 6,782 0 6,782
201 Bt A | 5,992 0 5,992
01 AtR 22l bl 3,060 0 3,060
oM=ENY E22 M 1,500
Odt=2 X2 H2AY 2 58 10,000& * 1504 1,500
OAtEX U I =H| 750
ogst= 90,000& * 5=t 450
O¢otX gt 60,000& * 5= 300
OUEUXHHEE 29 S|
6,000& * 1 = 150 * 90% 810
02 33294l 2,932 0 2,932
O«t2 &g &EHl R 1,632
OR &S EH| 450,0002 *~ 17CH = 4/100 306
OMEEEI 1,000,000& * 1CH 1,000
OS] 326
-2 1,969& = 5¢ = 104 » 30 296
-2 5,000& = 0.2¢4 = 100 » 30 30
ONMESAGFAASE 20
5,000& = 2% * 130¥ 1,300
206 M = dl 790 0 790
01 & bl 790 0 790
OsUE R2&I| Higel 80,000& = 6CH 480




e EEE SN EYTE AL
HE: =MTAE 98 M4PXRE
ool NN 84 Y 25 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O 4t= &l st 2| 310
oz 7,000& = 307K 210
Ooled= 5,000 = 20K 100
o I Y BSAY (M) 7,773 0 7,773
201 L4l 1,573 0 1,573
02 =224l 1,573 0 1,573
OH=ZLH Il KA 1,573
O=&MU 1,763& = 254 =+ 30¢ 1,323
Os Xl 250,000& = 1CH 250
206 T 2 bl 6,200 0 6,200
01 M2 4l 6,200 0 6,200
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